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< FifE=371 > < FifE=3.91 > < FifE=412 >
NEFHEFHAE
1A—60A 61 A—200A 201 A—500A

< FfE=3.9 > < FYE=3.73 > < FY{E=3.75 >

FYRMXE L 5—F B

61 A—200A 201 A—500A

< FiYfE=3.88 > < FifE=3.95 >
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[008]-DIBED BN ERETES,

5=3<ZEIR3, 4=%585, I=ELLHELVAAL, 2=F3/bLL,  1=2<Z3BHEL,  E=EFTELL,

=HRHEE MERREE B REBRHEMRAEE BTHHMEHEA

< FiYfE=438 > < FifE=43 > < FifE=4.47 > < FiYfE=437 >
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[009]CDIBEISHMFIFEZ T TN,

BS,  3=EbBEBLALL,  2=F53BDAL,  1=24E53BhAL, 6=EETEAL,

61 A—200A 201 A—500A 501 A—

B5:208%
(847A)
D4:43.4%

(1484 \)
03:19.6%
(669 1)
D27.2%
(2470)
D1:4.4%
(152A)

19A)

< Fi{E=377 > < FiYfE=375 > < Fi9{E=373 > < Fi9{E=337 >
HEEHEA
1A—60A 61 A—200A 201 A—500A 501 A—

< FYfE=3.97 > < FYfE=3.74 > < FYfE=3.57 > < FiYfE=3.28 >
AEHHEA
1A—60A 61A—200A 201 A—500A 501 A—

< FfE=3.99 > < FfE=3.36 > < FYfE=3.7 > < FYfE=3.72 >
BURSEHAE
1A—60A 61 A—200A 201 A—500A

< FifE=415 > < Fi9fE=333 > < Fi9fE=3.96 >
S ERFHHA
1A—60A 61 A—200A 201 A—500A

< FifE=359 > < FifE=3.44 > < FifE=3.69 >

_30_



[009]CDIBEISHMFIFEZ T TN,

5=#CE5R3, 4=%3B5, 3=ELLEBVALL.  2=F53BDAL, 1=2LE53BHAL, 6=EETEAL,

HIFEHEAE

1A—60A 61 A—200A 201 A—500A

< Fi9fE=363 > < FifE=39 > < FifE=3.86 >
NEFHEFHAE
1A—60A 61 A—200A 201 A—500A

< FYE=3.77 > < FYfE=3.49 > < FifE=3.25 >

FYRMXE L 5—F B

61 A—200A 201 A—500A

< FYfE=3.94 > < FifE=3.68 >
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[009]CDIBEISHMFIFEZ T TN,

5=3<ZEIR3, 4=%5F5, I=ELHELVAAL, 2=F3RbLL.  1=2<Z3BHEL,  6=EFTELL,

=HRHEE MERREE B REBRHEMRAEE BTHHMEHEA

< FiYfE=434 > < FifE=49 > < FifE=453 > < FiYfE=4.14 >
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[o10]cDIBZITHERELTLNS,

5=#CE5R3, 4=%3B5, I=ELLEBVLALL. 2=F53BDAL,  1=2<LE53BHAL, T=EETEEL,

61 A—200A 201 A—500A 501 A—

< FifE=372 > < FifE=371 > < Fi9{E=378 > < FifE=3.68 >
HEEHEA
1A—60A 61 A—200A 201 A—500A 501 A—

< FYfE=4.08 > < FYfE=3.76 > < FiyfE=3.81 > < FYfE=3.73 >
AEHHEA
1A—60A 61A—200A 201 A—500A 501 A—

< FfE=3.85 > < FfE=35 > < FfE=3.76 > < FiYfE=3.52 >
BUR#EE B
1A—60A 61 A—200A 201 A—500A

(OA)
0:33.3%
1A

< FifE=421 > < FifE=a > < Fi9fE=3.88 >
S ERFHHA
1A—60A 61 A—200A 201 A—500A

< Fi9fE=3.23 > < FifE=3.42 > < Fi9fE=363 >
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[o10]cDIBZITHERELTLNS,

5=#CE5R3, 4=%3B5, I=ELLEBVLALL. 2=F53BDAL,  1=2<LE53BHAL, T=EETEEL,

HIFEHEAE

1A—60A 61 A—200A 201 A—500A

< Fi9fE=3.43 > < Fi9{E=378 > < FifE-3.84 >
NEFHEFHAE
1A—60A 61 A—200A 201 A—500A

< FYfE=3.73 > < FfE=3.63 > < FfE=35 >

FYRMXE L 5—F B

61 A—200A 201 A—500A

< FifE=4.07 > < FifE=3.81 >
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[o10]cDIBZITHERELTLNS,

5=3<ZEIR3, 4=%585, I=ELHELVAAL, 2=F3RbLL.  1=2<Z3BHEL,  T=EFTELL,

=HRHEE MERREE B REBRHEMRAEE BTHHMEHEA

< FYfE=431 > < FifEi=48 > < FifEi=a6 > < FiofE-41 >
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